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7y ORI X AR D 7= 8 FRARERHU & NI
(N) DOBHEL (n) (kg)
1 = 1 1 0. 3 1
2 = 50 2 0. 5 1
51 ~ 500 3 0. 5 1
501 ~ 3,200 5 0. 5 1
= 3,201 8 0. 5 1
3 = 50 3 1 %2 1
51 ~ 150 5 1 %2 1
151 ~ 500 8 1 %2 1
501 ~ 3,200 13 1 %2 1
3,201 ~ 35,000 20 1 %2 1
= 35,001 32 1 %2 1
4 = 150 3 1 %2 1
151 ~ 1,200 5 1 %2 1
= 1,201 8 1 %2 1
5 =< 150 3 0. 5% 1
151 ~ 1,200 5 0. 5% 1
> 1,201 8 0. 5% 1
6 =< 150 6 (3X2) 1 (0.5%x 2) =4 2
151 ~ 1,200 10 (5xX2) 1 (0.5x2) ** 2
> 1,201 16 (8X2) 1 (0.5%x 2) =4 2
7 = 150 6 (3X2) 2 (1x2) * 2
151 ~ 1,200 10 (5%X2) 2 (1xX2) % 2
= 1,201 16 (8xX2) 2 (1x2) * 2
] = 150 3 1 (¥—2R) % 3
151 ~ 1,200 5 1k LT, % 5
= 1,201 8 H—rr kv 1z 8
AR5, *°
9 g 4 48 % FhZFh 4% 1
S, Krng 1%
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